KR # - ¥ =

FR22FE (F30E) EEC2=F7INIEFERRE [12E~145% - BF]

# B: 2010478288 ()K) ~2010£78298 (K) [E15V > F]
% Bt TLXINTVZT(LFaF—) 6,481 YARD PAR 72
SmEH: 368 (RiFE 148)

1R

M £ K E-] 2] ] 241 Total(Out/In)

1 EHE A® )T & f P T2 12 (33/39)

2 AR O EE OF K % —$F 13 73 (38/35)

3 EE — & Q| | H I B T5 75 (38/37)

mA B2 OF ® W SdP 75 75 (37/38)

5 RA BH OF | F o 76 76 (39/37)

# 1 ' Q% E KX B 8l 8§ hF| 76 76 (38/38)

AN KREO|%EKHEMBI R 76 76 (38/38)

8 EA B QA | O F ¥ 78 8 @1/41)

9 AR Ez O 3 % —dFE 79 79 (39/40)

10 B EX O K = ) 80 80  (43/37)

BEA RE Q|E M % H PWhF 80 80  (35/4%)

12 Bl MK Q|4 B F W =¥ 8 81  (43/38)

EE BAX Ot # E 5 8 81 (40/41)

AH B Q|%EFKXKEWLIRHBDF 8 81  (36/45)

15 tF BN Ol | B FBhF 82 82 (44/38)

F XA OF & m B &$F 8 82 (38/44)

B B8R Q|F B A A K 82 82 (40/42)

18 BB BEAEOHL ® @& &P 83 83 (42/41)

19 EH LK OT B & R 84 84  (45/39)

T H R# OHLIEHVOE RSB 84 84  (36/48)

MNER EOA 8 F W R 84 84  (41/43)

22 mol# Ofr I ' HpF 8 85  (45/40)

23 ME tE2 OQ|f )% Xk B 86 86 (42/44)

24 R E @OIF B K mepF 89 89  (41/48)

25 = B QT B % iR 91 91  (43/48)

EB EH O|F = B hE 91 91 (46/45)

F ME Q|4 i h# 91 91 (46/45)

28 B BEE OlE N T B 92 92 (45/47)

tRE BXBO|B N T FhF 92 92 (45/47)

30 BEE RM O | F 0 BHF 93 93 (46/47)

31 EH M® O 7 X B PFE 01 101 (51/50)

32 WwmwW ALE O % #H I 7P 102 102 (48/54)

33 AX A OI #= | 104 104 (48/56)

AR OB R QIE )] 2 &4 104 104 (52/52)

35 Zll KE O[# | HE B mPP 107 107 (51/56)
R ERAR RHEO|A IR FRE P RcpF




